A1) o fn 3 £ B F X B B EFE R-KEERW

§F)
RELREE R

[ BREAE B
EE A2 e [T -3 8 OBGR]| oz
1% 2@ 1H THIEIM- 3 8 DR gRE s | ekEs| | wgmms| L]
) i T #5
TIFIERUVUEERREE T - B AR 2 i
BEL - JRFs ﬂﬁﬁﬂﬁﬁ%
a7

_ (A7 - T
M N R _ ]

X 4 & E] = Z DO TEE T KB 1 EF |
AN B AR 5, 562, 066 0 1,500 5, 560, 566
S
[EAHESE b %

B 2 AR 6, 865, 895 1,500 6, 864, 395

AT A 1,303, 829 0 0 0 0 0] A 1,303,829

X k295 SRRSO FE BT X T 4 Ak
P [ 11, 427, 342 9, 811, 446 8, 154, 360 e 5, 562, 066 5, 562, 066
B[ exms A 11, 425, 842 9,809, 946 8, 152, 860 B[ exms Th 5, 562, 066 5, 562, 066
e [FFR 10, 973, 420 9, 416, 502 7, 805, 698
B[ exms A 10,972, 623 9,415, 168 7,804, 333 FEtORER, /Pl
A ( ) -
[ FEoBEM - LEHE]
WEEFE, BEEOTGLTEE, FITHFHCE, 268 TEOR & O it sk FHCEHE O AW
[&Fn 3 HFEEENR L WS 2 8hR]
(1) BEERE., SEEOTELTHE. FITHTEE ZEE TR R OB B iR i T 5ok %
(2) —kefE A&FE
[ EEEROASHRIAL ]
29F L Ik | S0 | AR | 2Rk T | SAETH | AL TR
X 10,973,420 | 9,416,502 | 7,805,698 | 6,865,805 | 5,562,066 | 5,562, 066

] st —

PR [ EBHE 797 1,334 1,365 1,500 1,500 1,500

— i i 0 0 0 0 0 0

g [T ] T0, 972,823 19,415, 168 | 7,804,338 |76,864, 395 | 5, 560, 566 | 5, 560, 566
[ FEERONR ]
2 TR 3R A B B
AR 6,443, 969] 5, 260, 796] 2 1, 183, 173 | K ILFIE-DOIRK
PRLFLG. 35, 398 29, 269 /N6, 129|PF1 52 O ENRFL AR O
TR 180, 000 50, 000] A 130, 000
[ RRRIETS 206, 528 222, 001 15, 473
LT TR 137 127 A 10
. FIF L FEORE 7,755 7,634 A 121
L EE TR 175, 020 188, 405 13, 385 TR TE DI
N e 1,779 1,914 135
T 21, 537 23, 621 2, 084
& B, 865, 805]__b, 562, 066] 2~_1, 303, 829
BRIE 0 0 0
S IFTE 1, 500 1, 500 0
— R 6,864, 395] 5,560, 566] A 1,303, 829
[ FExrva—n ]
1 TH - R
SF3AFE [4H]5HA]6HA]7A[8A[9AJI0AJ11IAJI2A] 1A 2AH]3H
THFEROR || e | R5E B
g | PP | ge TREE
2 HnES
Sm3EE [4A[A[6A[7AI8ATOAJI0OAJIUAJI2ZA] 1A 2A] 37
SCEVFILE. TE REE 5
e e 117 = . FHR} TFHokt TFHokt
SMEAREET | T o) ) i
[ FHEBGFE ]
W FN254F [
[ RiES ]
5 B RE
[ RinE+27—42% ]
W AE FE D AT AR B OV /K 2 e
PR Rk %
AEEHT, ATF - WIEICERLELZ, il s WHE B M 5
( REAE & — 22)



